PelleHne ypaBHeHUd sint=a.



[1OBTOpUM «apKu»

PewuuTte ypaBHeHMe:

sin t= -0,9
sin t= -0,4
sint=0,2

sint=0,7
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YpaBHeHue sint = a
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YacTHble cnlydyan ypaBHeHUa sint = a
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NNpMeHun 3HaHUNA

1. PewwuTe ypaBHeHMe:
a) 6sin2x + sinx = 2
6) 2cosx - 3sinx cosx=0
2. Bbluucnure:

a) sin(arcsin(-0,9)
6) cos(arcsin0,6)



/loMallHee 3aaHune

YyebHuk naparpad 16, pasobpatb
npumepbl, 0POpPMUTb B TETPAAU

NQ 16.8-16.10 pewinTb YpaBHEHUS,
0OpMUTb pelleHuns

YpaBHeHUS 13 npeablayLlero cnanTa

peLnTb (MO BalLEMY XeNMaHU N MoeMy
XOTEHUID =2)




